Year 6

Monday 29t June 2020

Maths

LO: to calculate area and perimeter




The video of this lesson is available here - Summer
Term — Week 9 - lesson 1

This link works on the printable version and is
available above the PowerPoint.

You will need to watch this video to learn the
skills you need in this lesson.


https://whiterosemaths.com/homelearning/year-6/

The independent work continues on the next two slides. There are 6
questions and 1 extension.
(Espanol - seis preguntas y una extension)

—
The chili suggests a good starting point.

If you have time you can complete all the independent work!



Area and perimeter o Waork out the missing values.
a) 8cm

area = 32 em®

perimeter = cm

o Use the words to complete the sentences.

® @ © : -
o © e

perimeter = 40 cm

istheamount of spoce o
two-dimensional shape. It can be measured in units such os
ar c)
area = m*
isthedistance ____ o two-dimensional ™1 - perimeter = 36 m
shape. It con be measured inunits suchas —____ or

° Work out the areas and perimeters of the shapes.

Shape A Shape B
o Work out the areas and perimeters of the shapes. - i
a) . 6 cm . k)
h L4 ) 6 cm
4 cm
4 cm
P 2 E'“I 2 2
area = cm area = om
P4 L
2 em perimeter = cm perimeter = cm
perimeter = cm perimeter = cm What do you notice? @
areda = cm? area = cm?
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@ o Twa rectilinear shapes, A and B, each have an area of 12 squares.

If you start with a rectilinear # Shape A has the lorgest perimeter possible.

shape, when you increase

the area, the pers will # Shope B has the smallest perimeter possible.

increase. Draw shapes A and B. 4

1 cm
4 &
I1cm

It depends on
the shape.

Who do you agree with?

Draw some examples to support your answer. 1em @

What do you notice?

P

EXt: Mr Jones has 50 m of fencing.

ey

He wants to make a rectilinear enclosure using all the fencing.

a) Drow an example of a shope he could make. Give units on [

your diogram.

-

b) What is the greatest possible area of the enclosure?

¢} What is the smallest possible orea of the enclosure?
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The next two slides contain the answers
should you wish to check you work and

reflect on what you understand.

AREA
DO NOT
- ENTER




Area and perimeter e Work out the missing values.

a) ) 8cm

area = 32 cm’

k4 Jom perimeter = | 2L |em

° Use the words to complete the sentences.

= @ O [
a v [T

perimeter = 40 cm

>

_fren s the amount of space _lnside g
two-dimensional shaope. it con be measured in units such as
con® ar mi " E]
area = S | |m=
—Deponarer s the distance —Gooend g two-dimensional ™17 | perimeter = 36 m
shope. It con be measured inunits suchas S0 or

—_—

o Work out the areas and perimeters of the shapes.

Shape & Shape B
e Waork out the areas and perimeters of the shapes. Pe e
a) . 6 cm . k)
= = B 6 cm
4 cm
4 om
2 om
area = 40 |em? area =| 79 |cm?
Ak
 em perimeter =| 17 |cm perimeter =| 1 4 |cm
perimeter =| 10 |cm perimeter =| J¢) |em What do you notice?
area =| 3 |em? area =| |£ |em?
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@ o Two rectilinear shapes, A and B, each have an area of 12 squares.

If you start with a rectilinear # Shope A hos the lorgest perimeter possible.

shape, when you increase
the area, the perimeter will

& Shape B has the smallest perimeter possible.

Draw shapes A and B. ] @
i cm
Amir
I‘I cm

increase.

It depends on
the shape.

Whoa do you agree with? __Howe
Draw some examples to support your answer. 1em @
£ . —

' What do you notice?

I': Al (i rg_d. :
EXtI Mr Jones has 50 m of fencing.
Phromier ol

B i
He wants to make a rectilinear enclosure using all the fencing.

a) Drow an example of a shape he could make. Give units on

- your diagram.

NO O

-

e.q. 5 m

Par wr idacy dl 12 e

r' b) What is the greatest possible area of the endlosure? | 15¢ *

€) What is the smallest possible area of the endosure?| 4, 2

Prbivvsber Linerdnned

& ‘iute Aona hatin 2019




